5 Choices: 1/6, 2/6, 3/6, 4/6, 5/6. Indifference: 0.25, 0.42, 0.58, 0.75

H'  0.83—5/6 -
o 0.80-5/6
o 0.67—4/6 —
0.75—[45]/6

N - L 0.67—4/6 -

/ L 0.604/6
w22 0.50—3/6 -

0.67—4/6

L 0.674/6 -

\ ,, 0.60—4/6_
i w27z 0.50—3/6 —

0.50-3/6

— w2 0.50-3/6 -

2 0.40-2/6 T
ws 0.33—2/6 —

start

L 0.674/6 -

., 0.60—4/6 —
i w2z 0.50—3/6 —

0.50-3/6

— w2 0.50-3/6 -

/ 2 0.40-2/6 T
wr 0.33—2/6 -

0.33-2/6
2> 0.50—3/6 -
> L 040-2/6

0.25—[12]/6

/X
\

m 0.33-2/6 -

- H*  0.33—2/6 -
“0.201/6
\
4 0.1751/6 -

The choices are spaced narrowly enough that the right-most (fourth) agent will have a perfect choice
given her signal inference.



